oo
O+
oop

=

LA TR R

w44

(5x+3)(3x—9)

(4x — 9)(2x +2)

(7- 37 (Bx—7)

(9% + x + 1)(9x + 3)

(9+ 8x)(4x—9)

H L

(8x — 7)(2x* — 3x— 3)

(5x — 5)(2x + 5)

B+ x)(3x—4)

(3x — 6)(4x> + 4x + 4)

(9x — 7)(4x* — 3x— 3)
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o>
o+
oop

=

LA TR R

w44

(5x+3)3x—9)
15x> — 36x—27

(4x — 9)(2x +2)
8x> — 10x— 18

(7- 3% (3x—7)
—0x” + 21x% + 21x — 49

(9% + x+ 1)(9x + 3)
81x° + 36x* + 12x+ 3

9+ 8x)(4x—9)
32x% — 36x — 81

H HA:

(8x — 7)(2x% — 3x - 3)
16x> — 38x% — 3x + 21

(5x— 5)(2x +5)
10x” + 15x— 25

B+x)(3x—4)
3 + 5x— 12

(3x — 6)(4x> + 4x + 4)
120° — 126% — 12x — 24

(9x — 7)(4x* — 3x — 3)
36x° — 55x% — 6x + 21
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